
Addition de Cœurs Doux (C)
Quelle est la valeur de chaque cœur doux?

35 + e = 127 l + 28 = 110

82 + c = 123 o + 70 = 127

82 + d = 96 k + 82 = 125

84 + b = 140 n + 15 = 100

18 + a = 72 m + 52 = 110

37 + j = 120 r + 29 = 76

58 + f = 147 p + 80 = 137

71 + i = 115 s + 43 = 128

60 + g = 87 q + 91 = 135

20 + h = 102 t + 45 = 84
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Addition de Cœurs Doux (C) Réponses
Quelle est la valeur de chaque cœur doux?

35 + 92 = 127 82 + 28 = 110

82 + 41 = 123 57 + 70 = 127

82 + 14 = 96 43 + 82 = 125

84 + 56 = 140 85 + 15 = 100

18 + 54 = 72 58 + 52 = 110

37 + 83 = 120 47 + 29 = 76

58 + 89 = 147 57 + 80 = 137

71 + 44 = 115 85 + 43 = 128

60 + 27 = 87 44 + 91 = 135

20 + 82 = 102 39 + 45 = 84
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